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Q1 Zof0025is equal to- 0.025 &7 = freaT fraar &7
b D
(A)  0.0002 (8)  0.002 (C) 0.02 (D) 0.2

Q2. The ratio between two numbers is 3:4 and the sum of their squares is 625. The numbers are / ar
FHAVT & HAATT 3:4 ¥R saF e AT 625§ AT AaT SIA 2?2

(A) 6,8 (B) 15, 20 (C) 18, 24 (D) 20, 25
Q3. The sum of two digits of a number is 15. If 9 is added to the number, the digits are reversed. The
number is / TEY FET & 2Y 37T @1 AT 15 | AR 37 Fax 3 9 ST FFT S &Y 38F ST 3E RAF a
SR A AETE
(A) 78 (B) 87 (9] 69 (D) 96
Q4. A number, the sum of whose fourth and fifth parts exceed their third part by 28, is- / T& AT
Toras ater 3 airad et & Arer DAY FET H 28 TTAer § L arFeT -

(A) 240 (B) 220 (C) 160 (D) 120
Q5. A man plants his orchid with 2025 trees in a manner that there are as many rows as there are
trees in a row. How many rows are there? / Ush 1T & HI=Y FIA 3 2025 93 $H ISR &7 Hr g afFa
3 sas O3 & Fraeh fs o dfFaar §1 Fo Rraer ofFaat 2

(A) 55 (B) 100 C) 45 (D) 60

Qe. Find Compound Interest cn Rs 1000 in cne year at 5% per annum when the interest is calculated

half yearly. 1000 $9& 9 1 a¥ ¥ v ufday 5 uiderd &y 9T Twatf sarsr BT & I & s 3daf¥s
FrovaAT fFarIar g ?

(A) Rs 50.20 (B) Rs 50.62 (C) Rs 50.82 {D) Rs 55.62
Q7. A boy of height 165 cms is repiaced by another which decreases the average height of the group
of 34 boys by 1 cm. The height of the new boy is:- / U& wS&HI [SrHH e 165 dfeAecr e 3 A 3R asF
& Teel HTT IR T 34 TSR F FHE H HAAA $ 1| AT FH A I | A ASH BT Ha Tehad=ll ©7

(A) 132 cms (B) 129 cms <) 130 cms (D) 131 cms
Q8. A person sold an article for Rs 136 and got 15% less. Had he sold it for Rs X, he would have got a
profit of 15%. Which one of the following is correct? / Ua =afaa =TT aFe Y 136 9 #Ha=ar IR 3T/ 15
ufeeret SaTs §ai| afE & 38 avq A X 394 F Jaar at 3/ 15 yfarera ans gar Rafaf@a 3 & e ar
|Ere?

(A) 190<X<200 (B) 180<X<180 (C) 170<X<180 (D) 160<X<170

Q9. Two cyclists start from the same place and move in the opposite directions at 11 km/hr and 13
km/hr respectively. At the end of 4 hours distance between them is / 2 AIEHd AR U & ¥ | faudia

feromr 3 T 11 3T 13 ey Uiy e 4 TR A g3 HIAT UE U 4 621 F g 377 39l gf

Fas g
(A)/56 kms (B) 72 kms (C) 96 kms (D) 118 kms
‘ Q)O/ﬁamesh can do a piece of work in 4 days and Sham can do the same work in 6 days. How long

\_‘\,/will Ramesh and Sham take to do the work together? / faeY @12 @ 3121 4 el & g aden & 3T W 330
| w6 Rt & QX e 31 TR SR A 30 B A v A TR e 5 A U A ad 2

\
\ (A) 5.4 days (B) 4.2 days (©) 2.4 days (D) 1.2 days
\ A ———
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Q11. A garrison of 15 men has provision for 28 days. After 4 days three more men arrive. Now for how
many days will the remaining food last? T& 0@ e s afFa g s 28 AT ureu= 21 4 &A1 &
a1 3 <gfda 3 31 ona 81 319 39 A A haa B a Wiesr g 9reen?

(A) 24 days (B8) 20 days (C) 10 days (D) 28 days
Q12. Find the single discount which is equivalent to two successive discounts of 20% and 5%. / 20
ufarera 3l 5 ufdera H 2Y serar g e oEaE g F aua g ?

(A) 25% (B) 50% (C) 24% (D) None of these

Q13. The length of the longest rod that can be piaced in a room 30 m long. 24 m broad and 18 m high
is / FEY dY TS ST Uk 30 fHeT od 24 e 912 31 18 et 2 w31 3 uEh 51 §HA B, 3§ U8 H I
Tfaas1r gramn?

(A) 30m (B) 15vV2 m (C) 60 m (D) 30vZ m
Q14. A candidate needs 35% marks to pass. If he gets 96 marks and fail by 16 marks, then the
maximum marks are / T&F IFAIEIT F 35 Ui 3iE g A ¥ v afiRv] a2 38 96 3 RAaa & iy ar
16 3% | B & AT & ar 30FTH 3 Faa &7

(A) 250 (B) 320 (C) 300 (D) 425
Q15. The least number which when divided by 5, 6, 7, and 8 leaves a remainder 3, but when divided by
9 leaves no remainder is / @ BT A BIT #9¢ 31 5, 6, 7 3T 8 F 797 &1 9T 3 AW AT & GY 9 A H#1 & 9T
FIE Y FE Zari

(A) 3246 (B) 1863 (C) 1363 (D) 1683
Q16. The largest natural number by which the product of three consecutive even natural numbers is

always divisible, is / HaH I3T UrFa HE&T ISEH 6181 37 3 FeaR HHe Haied! & Ioane o G 5797 &2z
ST wH|

(A) 16 (B) 24 (C) 48 (D) 96
Sx+3y
Q17. Ifxiy =9:11, thevalueof oy X is /At xy = 9:11, i P HFHA AR
(A) 45:55 (B) 18:22 (C) 37:41 (D) 39:41
Q18. f /i =2 then xis
49 7
(A) 9 (B) 25 (C) 16 (D) 8

Q19. A person crosses a 600 m long street in 5 mins. Find his speed in km/hr. / & saf@Fa 600 Fex
&Y ITAT 5 HaTe H U FIar &1 3wy a1fa fFeieey ufa ger & fFasr aefr?

(A) 10 (B) 8.4 \(‘g/f 2 (D) 3.6
Q20. P is six times as large as Q. The percentthal Q is lessthanPis/PQ @6 FTagTe ATQP &
e gfarera oier gem?

(A) 83 | 16 (C) 90 (D) 60
Q21. LCMof 18, 24, 42,63 is/ 18, 24, 42 31T 63 & dYcds FHGY #4182
(A) 302 (B) 604 (C) 504 (D) 404
Q22. The sum of-— %,%and—ofa number is 150. The numberns/ﬁ?‘d’raa’téi-‘l; %,-:; mllamaﬂ
T 150 §1 A Fa7 %
(A) 120 (B) 130 (C) 140 (D) 150
Q23. The average of first 10 odd natural numbers is / 9&d 10 fawsT urga a3t #r e A 2-
(A) 10 (B) 15 © 11 (D) 20
Q24. A man sells 320 mangoes at the cost of 400 mangoes. His gain percent is / U& af&d 320 31T

400 T HY WA FHEA 9T ATAT &1 3 FFasy ufdera awss g
(A) 10% (B) 25% (C) 15% (D) 20%
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Q25. X, Y and Z invested Rs 4800, Rs 7200 and Rs 9600 in a business. Out of profit of Rs 2520, Z's
share is / X, Y 31T Z & =araww 7 4800, 7200 3T 9600 FIA 32T fFw) @St F 2520 T F Z = e
hdar glan?

(A) 280 (B) 560 (<) 840 (D) 1120

PART 2 — ENGLISH / HINDI

Q26. Choose the word that is most nearly opposite in meaning to the word distinct

(A) opposite (B) different (C) uniform (D) similar
Q27. Choose the correct synonym for the word maiden
(A) first (B) girlish (C) fresh (D) primary
Q28. Select the correct synonym for the word frightened
(A) Ccourageous (B) terrified (C) amazed {D) crying
Q298. Select the correct antonym of the underiined word:- | was upset by his_hostile attitude
(A) friendly (B) positive (C) negative (D) inimical

Q30 Moralists are usuaily persons who do not drink alcohol. The most suitable word for the underiined
expression is:-

(A) Teetotalers (B) ascetics (C) pedants (D) celibates
Q31. The study of birds is called

(A) Anthropology (B) Archaeology (C) Entomology (D) Ornithology
Q32. A group of wolves is called

(A) herd (B) stack {C) pack (D) litter
Q33. Select the correct spelling.

(A) banana (B) banena (C) banana (D) banaanna
Q34. Which of these is not a vowel?

(A) a (B) =3 (C) k (D) u
Q35. How many vowels are their in English language.

(A) 4 (B) 5 (C) 7 (D) 6
Q36. Plural of man is:-

(A) mens (B) men (C) menz (D) mans
Q37. =Y * RS e F=r Y |

(A) k\Sros (B) = (C) Turs (D) AT
Q38. 3R = A A F=r w2y

(A) trust (B) believe (C) truth (D) lie
Q398. Hindi alphabhet consists of how many consonants?

(A) 20 (B) 16 (C) 36 (D) 52
Q40. He wanted that | left immediately.

(A) | may leave (B) | leave (C) me to leave (D) no improvement
Q41. Hefiled an appeal ____ the higher court

{A) by (B) into (C) with (D) in

Q42. The statement at serial nc 1 and serial no 6 are fixed. Rearrange P, Q, R and S to form a
meaningful statement.

Energy enables a man

irksome drudgery

carries him onwards and upwards
and dry details and

to force his way through

In every station of life
) SPQR (B) PQRS (C) SPRQ (D) PSQR

5002070 2
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Q43. Choose the correct synonym for the word allegiance.

(A) disaffection (8) joyaity (C) rebellion (D) sedition
Q44. Jiske saman doosra nhi ho
(A) Anupam (B) Anudar ©) Athah (D) Ajar
Q45. Mohan belongs _ the upper strata of the society
(A) at (8) for ©C) upto (D) to
Q46. The travel expenses of the candidate who have to reappear will be
(A) reimburse (B) reimbursing (C) reimbursement(D) reimbursed
Qa7. Theyoung child sung a very sweet song
(A) singed the (B) singed (C) sang @ (D) no improvement

Q48. The sentence has been divided into four parts, A B.C.D Out of the four parts one is defective

Seiject the defective part:- (a) the court awarded /(b) death dentence for /(c) all the three accused /(d) in
the triple murder case

(A) d (B) b (©) c (D) a
Q49. Ofthe three pbranches of the defence forces, the Air Force has been favoured the _ N recent
times
(A) most (B) more (C) very (D) much
Q50. Antonym of word vigilant is:-
(A) cautious (8) heedless (C) awake (D) careful

PART 3 — GENERAL KN WLEDGE AND GENERAL AWARENE S

Q51. Which of these is not a fundamental right? (%=1 F Fter @ At AR AT e?)

(A) Right to property (wafea & HTEFEN)

(B) Right to assemble peacefully. (erfaqd® cHEE A 1 TAHR)

(C) Right to move freely throughout the country-(q¥ 231 A TATEY & g BT )

(D) Right to constitutional remedy . (BTaHT ZaRT 9&ed ZraEaT3il @ ATAHR)
Q52. Which of the following articl

e of our constitution gives special status to Jammu a
(mwmmﬁammmmmmmﬂmmmb

(A) Article 326 (¥ 326) (B)

nd Kashmir?

Article 352 (31#13< 352)
(<) Article 356 (37110 356) (D)

Q53. The day to day administrati
Fraad B & Ay IdAS FTT ®)

(A) President (Irsgata)

Article 370 (34;1:1& 370)

on of a Union Territory is carried out by the-(Fg iR w&=r & FACC

(B) Governor (TA9Te)
(C) Home Minister (3[&+)

(D) Lt Governor (39-TST9TH)
Q54 How many members can be nominated to the Lok Sabha by the President? (FT& AT & seaid
ZarT frdas §EEs ATHIFT TSI EFA 8 72)
(A) 2 By 5 (C) 2 (D) None
Q55. The President of India is elected by the:- (3E ¥ Tegut &1 A d e ¥ ear BRar ST 8)
(A)

Members of the Lok Sabha (ST |31 HeFdl ear)
(B) Members of the both houses

of the parliament (HHE ¥ ZT=AT @awt F eI @)
(C)

Members of the state legislature (15X AT 3T ¥ T 2aR)

(D) Elected members of both houses of the pariiament and

state assemblies (FHE & Al
HeAT 3T o faere W ¥ g4 gU HeEdl Zan)

Q56. The Election Commission is:- (FyavasT 3HTEET §)
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(A) a constitutional body(Faeniars HE1T)(B) a legislative body (== HEU)
(C) an executive body(&FEA&Id @ (D) a non-formal body(3iAtgaiia HEm)
Q57. In which year new currency Euro was launched?(fFa BT 31 X Hal gf=t H 3T 7)
(A) 1996 (B) 19898 (C) 1998 (D) 1997

Q58. Which of the following materials was mainly used in the manufacture of Harappan seals? (f&7=F E=)
#aﬂawmﬂg@mﬂmm#mﬁmmﬁmﬂmm

(A) Terracotta(ZI&HhiT) (B) Bronze (&THT)
(C)  Copper (dt@n) (D)  Iron (ST&T)
Q59. Salt Satyagrah was started in - (FH® HATAT T 3 &Ha g3 M)
(A) 1930 (B) 1932 (C) 1928 (D) 1931

Q60. The first telegraph line introduced by Lord Dalhousie in 1953 ran between ( 1953 & & FHBIST
@mmﬁmmmmamﬁa:m Toar oY)

(A) Bombay and Thane(#&% 3T arT)

(B) Culcutta and Madras(Faacar 3T HTH)
(C) Bombay and Agra (H&$ 3T 31T

(D) Calcutta and Agra (Fe@ea 3T ATFRT)

Q61. Alexender advanced in India up to the river (st 3a & Fd #4 a& HE) d@a T 4 ?)

(A) Ravi (Tdl) (B) Satlyj (HASA)
(C) Beas (ca1H) (D) Yamuna (JF#H=0)
Q62  When was the battie of Buxer fought? (&Y HT 31§ Ha TSI 75 &)
(A) 1705 (8) 1728 C) 1758 (D) 1764
Q63. Which is the largest desert in the world? (T &1 TR TS HITTIA FA )
(A) Sahara Desert(HgRT #AIEH) 8) Thar Desert (2 #HEEAUH)
(C) Gobi Desert (3N FAFEAH) (D) Great Sandy Desert (22 LY AFEA)
Q64. The highest Volcano of the world is ( HEIT FY Ty S SETeE )
(A) Mt Fujiyama (F13Z FSITA1ET) (8) Mt Cotopaxi (FH13T HIeigraHn)
(C) Mt. Etna (A13Z TaT) (D) Mt. Kilimanjaro(&F13T fa&fassm)
Q65. Many of the active volcanoes are situated in:- (3§ | viFca sararHE FE AR F Ra®d)
(A) Pacific Ocean (WHd FEIAIET) (B)  Atlantic Ocean(3TTdiies HaEEEN)
(C)  Indian Ocean (f&+& FeTHIR) (D)  Arctic Ocean (HTHfea HEHERR)
Q66. Which one of the following countries is land locked (737 # & #le |1 a7 &2 & Foradr sl Wene
EE)
(A) Albania (3reanfaran) (B) Bulgaria (F=nRam)
(C) Bhutan (3{2157) (D) Romania (JATSA)
Q87

The planet with the shortest rotation time around its axis is-(T& 3[& ST 9= YT R g3 & fav
HIA FA AL AATR)

(A) Mars (3H3Te) (B) Jupiter (FgFafa)
(C) Earth (32D (D)  Pluto (<521



6

Q68.  Which of the following $& included in the national Income Account? (17=T 3 & fard Tz 3 &
MAFTE ?)

(A) Services and Housewives (Rarv 3 a6 SEIHTE &1 GHT=)

(B) Income of smuggler (F¥a3T T 31)

(C) Services of Sadhus  (®TY &1 Fard)

(D) Services of night-watchman (U= 98 &1 Jard)
Q69. Payments of water charges by the farmers to the government represents (fFar=AT Za HIHIT B
ar=h & T Y e e wRar d)

(A) Intermediate consumption (FTea s @)

(B) Final consumption (3ifa+ @aa)

(©) Fixed investments (Raifra @3den)

(D) Inventory investment (33328 a2
Q70. If tea and coffee are substitutes then reduction in the price of the coffee will - (T2 arar 38T FFEr

U ZEY F gafage & ar Sy & e F frrae 3 @)

Q71.

Q72.

Q73.

Q74.

(A) Increase the sale of tea (a1 & fahr # Fza)

(B) Decrease the sale of coffee (&I #Y f&shr 3 Aae)

(C) Increase the sale of coffee (FIFr i Ja 3 Fe)

(D) Decrease the price of the tea (T & firaa & Arae)
Hawala Market is related to- (FaTalT #Arhe fFad dafeua B)

(A) Stock Exchange Market (¥efe TFawsT Hdhe)

(B) llegai foreign Exchange (IR&s3=N @22l vwwdan)

(C)  Agricultural Market (& 7THe)

(D)  None of these (353 & IS 7éN)

Fixed cost is known as (AR Fza #T fFw g s=n srar )

(A) Special cost (fay 3=4) (B) Direct cost (9caaT #54)

(C) Prime cost (J1g# Hz4) (D) Overhead cost (FAE@E HIET)
How much noise is produced when man breathes?(EaTH & diH da & afd Read 2)
(A) 35 decibel (35 2da®) (B) 0.1 decibel (0.1 S R@aa)

(C) 0.5 decibel (0.5 2daw) (D) 10 decibel (10 2/ 8=w)

Which form of coal is mainly suitable for producing thermal power ?(Trara &t &ter dr 3raeT qHET

T H A9 ISl AR & AU 39gET @ar g ?)

Q75s.

(A) Bituminous cotton (fagfera Fieen) (B) Lignite (fRv=1132)

(C) Anthracite (TUUTHIET) (D) Lead (93)

What are soaps? (1T &1 &)

(A)  Esters of heavy fatty acids (51 81 35 &1 0¥

(B) Sodium or potassium salts of heavy fatty acids (@133 ar Sraf@== Srf s@= 317)
(C)  Salts of silicates (RATfAFe &1 T7F)

(D) Mixture of glycerol and alcohol (FNeiERIa 3T 3raHIRTe &1 f&3on)
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PART 4 —- GENERAL INTELLIGENCE AND REASONING

Q76. If GRASP is coded as BMVNK, how is CRANE coded in that code. / 317X GRASP &I #1238 &{Hh
BMVNK Ta@r S0 & CRANE =5 3d &g 3 &3 & Sroe.

(A) FUDQH (B) HWFST (C) GVERI (D) XMVIZ
Q77. Choose the pair which is different in relation. / 33 S8 & g S anfaal F 3rerer 21
(A) Smeli : Nose (B) Hear : Ears (C) See : Eye {D) Tongue : Taste
Q78 Which one will replace the question mark? / 357 3 & Wl [&+g & g FA1 HIA3.
12 18 30 16 24 40 45 1’8 27
5} 8 ?
(A) 18 (B) 12 (C) g (D) 6

Q79. Arrange the words given below in meaningful sequence. / w1 & 31T s 1 AT 3Hefshat 3
o
1. Family 2. Community 3. Member 4. Locality 5. Country

(A) 3,1,245 (B) 3.1.254 (C) 3,1425 (D) 3.1.4,52
Q80. Look at the series: 22, 21, 23, 22, 24, 23, ___ what number shouid come next. / $H Y@l &I &
3T FATT HITAT ek Bied [T HOAT
(A) 22 (B) 24 (C) 25 (D) 26
Q81. Which word does not belong with the others? / @lsT HT 2162 ZHY T2y & T 78 &
(A) Dodge (B) Fiee (C) Duck (D)  Avoid
Q82. FAG, GAF, HAI. IAH, Fill in the biank / WTAT 2011 Y.
(A) HAK (8) HAL (C) JAK (D) JAI
Q83 Amber : Yeliow :: Carmine e TR
(A) Red (B) Green (C) Blue (D) Violet

Q84. Choose the word that is essential part the underiined word. / 3§ 21z &1 g1 A (@it ereg &1
S ferar

Knowledge

(A) School (B) Teacher (C) Textbook (D) Learning
QB85. A farmer built a fence around his square plot. He used 27 fence poles on each side of the square.
How many poles did he need altogether? / U% @O o 319=t 9iFIT WS & Al AT @18 g=s| gt &y
GEAF AT 9T I 27 WNF F WA FIC| THA FH sy WX e

(A) 100 (B) 104 (C) 108 (D) None of these

Q86. Deepak said to Nitin “That boy playing with football is the younger of the two brothers of the
daughter of my father's wife”. How boy-playing football is related to Deepak? / Deepak Nitin & aTaT ST

TSH AT W IET & ar AY RAar H Oy F¥ 38 F 2 szt & @) @er ) ST ST Heard @ BT & ar
Deepak & T3 & a7 J9rar 2

(A) Son (B) Cousin (©) Brother (D) Brother in law
Q87. Yard: inch:: Quart: ?
(A) Gallon (B) Ounce (C) Milk (D) Liquid

Q88. In acentain code DECEMBER is written as ERMBCEDE which word will be written as
ERMBVENO in that code. / 37 DECEMBER ! #1232 &%& 0¥ ERMBCEDE farar Sirv & #iter g7 ez &
fSra®T &g g a9 ERMBVENO

(A) BERNOVEM (B) NOVEMBER (C) EMBERNOV (D) NOVBEREM
Q89. Choose the pair which is different in relation. / 38 12 & T=Y 3 aTfRat A 3raT 21
(A) Book : Page (B) Car : Wheel (C) Loom : Cloth (D) Table : Drawer
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Q90. Which one will replace the question mark? / 27 & & e RAeg & J71% F747 339

[ 18 | 24 | 32
42 | . 16 |
s T = T % |
72 112 | 128 |
(A) 2 (B) 3 (<€) 4 (D) 5

Q91. Look carefully for the pattern and then choose which pair of numbers come next. / 1 &3 #1¢
Az & 2@ T FQT0T A 1A BT { Haw! &7 SIS 7T

28,255 21,18,5 TR

(A) 10,7 (B) 11,8 (C) 11.5 (D) 5.10
Q92. Which word does not belong with the others? / @ls7 HT ety ZHY AT AT a1 2.

(A) Mayor (B) Lawyer (C) Governor (D) Senator
Q93 Fruit: Mango :: Mammal : ?

(A) Snake (B) Sparrow C) Fish (D) Cow

Q84. Which one will repiace the question mark? / 35 3 & U+ Reg Y S5 F4T HAIT.

(A) K (B) J (C) M (D) L
Q95. Count the number of triangles in the given figure. / #Ar= &Y 71T 31T 3 frast Rewior 32

(A) 16 (B) 13 (C) 9 o)y 7
Q96 Look at the series 53, 53, 40, 40, 27, 27, ____ What number should come next? / 3§ QI@FITEST
23 3T FaTC e e Bl AT A

(A) 12 (B) 14 (C) 27 (D) 53

Q97. Amit said, “The girl is the wife of grandson of my mother.” How is Amit related to girl? / 31f&a arar
JqE F3H 9T & AN AT & 91 | 33T T 379 asdh A F=Ar Rear 22

(A) Brother (B) Grandfather (C) Husband (D) Father in Law

Qe8. Choose the number, which will come next in series. / 3 YT 3 33ITAT 3 HleT | T
25.75. 35, 70,45,

(A) 85 (B) 80 (C) 55 (D) 85
Q99. DEF, DEF; 4 DEze. A DQEQF:; . Fill in the blank / ETE-ﬁ T 31?
(A) DEFa (B) D4EF, (C) D.EsF (D) DqEzF>

Q100. A fruit basket contains more apples than lemons / U& Wall HT ¥l # A« iig A S7er &
There are more lemons in the basket than there are oranges / 3H 2160 # Alg ¥al & S92
The basket contains more apple than oranges / 13T 3 JF Tl & AT &

if the first two statements are true then third statement is? 3i31{ Ugd &l a1 AT & dl JrEU §d1 41 8§72
(a) True (B) False (C) Uncertain



